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B.Com. (Second Year) EXAMINATION, 2019 

A.B.S.T. 

Paper – II 

CORPORATE ACCOUNTING  

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M    & v& v& v& v 
Q.1 (i) In how many categories the share capital of a company may be classified?        

Name them.  

 dEiuh dh va’k iw¡th dks lkekU;r% fdruh Jsf.k;ksas essa foHkkftr fd;k tk ldrk gS\ muds      

uke crkb,A  

 (ii) What is the difference between underwriting commission and brokerage? 

 nykyh ,oa vfHkxksiu deh’ku esa D;k vUrj gS\ 

 (iii) What would be the maximum remuneration if there is only one whole – time 

director?  

 ;fn dEiuh esa dsoy ,d gh iw.kZdkfyd lapkyd dk;Zjr gks rks mldk vf/kdre ikfjJfed 

D;k gksxk\ 

 (iv) What is meant by Divisible Profit?  

  foHkktu ;ksX; ykHk ls D;k rkRi;Z gS\ 

 (v) What do you mean by intrinsic value of share?   

  va'k ds vUrfuZfgr ewY; ls vki D;k le>rs gSa\ 

 (vi) Compute future maintainable profit if – 

Average Capital employed `6,50,000 

Normal Rate of Return 12% 

Goodwill (super profit × 3) `55,350 

  Hkfo"; esa dk;e jgus okys ykHk dk ifjdyu dhft, ;fn & 

vkSlr fofu;ksftr iw¡th `6]50]000 
LkekU; ÁR;k; nj 12% 

[;kfr ¼vf/kykHk × 3½ `55]350 

  

 (vii) What is External Reconstruction?  

  Ckká iqufuZekZ.k D;k gksrk gaS\ 

 (viii) What do you mean by Statutory Reserves?  

  oS/kkfud lap;ksa ls vki D;k le>rs gS\ 

 (ix) What is Capital Reduction Account?  

  iw¡th dVkSrh [kkrk D;k gS\  

 (x) What do you mean by Minority Interest?  

  vYier fgr ls vki D;k le>rs gSa\  
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PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc    
UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 The following underwriters agreed to under write the shares issue of a company – 

 A – 6,000 shares, B – 2,500 shares and C – 1,500 shares. 

 The total issue was of 10,000 shares. 

 The marked application were: A – 1,000 shares, B – 2,000 shares and C – 500 shares. 

Application forms for 1,500 shares were found unmarked.   

 Show the allocation of liabilities among the underwriters.    

 fuEufyf[kr vfHkxksidksa us dEiuh ds va’kksa ds fuxZe ds vfHkxksiu dk le>kSrk fd;k & 
 v & 6]000 va’k] c & 2]500 va’k] rFkk l & 15]00 va’kA  
 dqy fuxZe dk vkdkj 10000 va’kksa dk FkkA  
 fpfUgr vkosnu & i=ksa esa va’k Fks% v & 1]000 va’k] c & 2000 va’k rFkk l & 500 va’kA 
 blds vfrfjä 1]500 va’kksa ds fy, vkosnu & i= vfpfUgr ik;s x;sA vfHkxksidksa esas nkf;Ro dk 

c¡Vokjk fn[kkb;sA  

OR@@@@vFkokvFkokvFkokvFkok 
Q.3 Write a note on Sweat Equity shares.  

 LosV bZfDoVh va’k ij ,d fVIi.kh fyf[k,A  

UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Following details are relating to X Ltd.  

 fuEu lwpuk,¡ ,Dl fy- ls lEcf/kr gSa &  

  

 

   

  

 

  

  

 Find out the maximum amount available for declaration of dividends for 2016. 

 2016 ds fy;s ykHkka’k ?kks"k.kk ds fy, miyC/k vf/kdre jkf’k dh x.kuk dhft,A 

OR@@@@vFkokvFkokvFkokvFkok 
Q.5 What do you mean by net profit for remuneration purposes? How it is calculated?  

 ikfjJfed ds fy;s 'kq) YkkHk ls vkidk D;k vk’k; gS\ bldk fu/kkZj.k dSls fd;k tkrk gS\ 
 

Year Profit / Loss 

Before Depreciation 

Depreciation Profit / Loss 

After Depreciation 

2013 - 20,000 25,000 - 45,000 

2014 5,000 25,000 - 20,000 

2015 27,000 30,000 - 3,000 

2016 1,00,000 30,000  70,000 
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UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 State by using following information whether the statement is correct or not when “The 

expected rate of return is15%”. 

 fuEufyf[kr lwpukvksa dk mi;ksx dj crkb, fd ;g dFku lgh gS vFkok xyr Þvisf{kr ÁR;k; nj 

15%ß gSA  

 

  

 

 

 

OR@@@@vFkokvFkokvFkokvFkok 

Q.7 What do you understand by normal rate of return? How is it determined?   

 lkekU; ÁR;k; nj ls vki D;k le>rs gaS\ bldk fu/kkZj.k fdl Ádkj fd;k tkrk gS\   

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Discuss the procedure of accounting under pooling of interest method.  

 fgrksa dh ,d=hdj.k fof/k essa ys[kkadu fof/k le>kb;sA 

OR@@@@vFkokvFkokvFkokvFkok 

Q.9 S. Ltd. Sells its Business to P. Ltd., the latter to take over the assets at book values and 

to pay trade liabilities; in addition it is to pay `1,000 towards redemption of its 

debentures at a premium of 10% and liquidation expenses `400. The payment of 

purchase price is to be 2,000 shares of ̀ 10 each at an agreed price of ̀ 12 per share 

and the balance in cash.        

 ,l fy- vius O;olk; dks P fy- dks csprh gSA P fy- lEifÙk;ksa dks iqLrd ewY;ksa ij ,oa O;kifjd 

nkf;Roksa dks pqdkus ds fy, ysrh gSaA blds vfrfjä P fy- dks 1000 _.ki=ksa dk 'kks/ku 10 Áfr’kr 

Áhfef;e ij djus ,oa 400 `lekiu [kpksZa ds fy, Hkh nsrh gSA Ø; ewY; dk Hkqxrku 10 `okys 2000 

va’kksa dks 12 `ds r; ewY; ij ,oa 'ks"k udn esa pqdk;k tkuk gSA   

    

(a) Sundry Assets 9,27,342 

(b) Current liabilities 52,492 

(c) Average net profit of the preceding of four years 1,20,500 

(d) Average capital employed 9,00,000 

(e) Proprietor’s annual remunerations not changed to annual profits 18,000 

(f) The goodwill valued at four years’ purchase for super profit 50,000 
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 Give journal entries in the book of P. Ltd. 

 ih- fy- dh iqLrdksa esa tuZy Áfof"V;k¡ dhft,A    

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Explain minority interest in the context of consolidated balance sheet.   

 ,dhÑr fpV~Bs ds lUnHkZ esa vYila[;dksa dk fgr le>kb,A  

OR@ @ @ @ vFkokvFkokvFkokvFkok     

Q.11 The paid – up share capital of Toy limited amounted to   ̀ 2, 50,000 consisting of 25,000 

equity shares of `10 each. Due to losses incurred by the company continuously, the 

directors of the company prepared a scheme for reconstruction which was duly approved 

by court. The terms of reconstruction were as under:   

  

Balance Sheet of S. Ltd. 

Particular Note No. ` 

(I) Equities and Liabilities 

1. Shareholder fund     

 (a) Share Capital  ` 10 each  30,000 

 (b) Reserves and Surplus 1 3,000 

2. Long term liabilities    -  

 (Debentures )  10,000 

3. Current liabilities 2 24,500 

 Total  67,500 

II. Assets - 

1. Non-Current Assets(Sundry)  51,000 

2. Investment (W.C. fund)  1,000 

3. Current Assets (Debtors )  15,500 

 Total  67,500 

Note:  ` 

1. Reserves and Surplus P&L    2,000 

 Workmen’s Compensations Fund   1,000 

   3,000 

2. Current liabilities    

 Bills Payable   4,500 

 Creditors   20,000 

   24,500 
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 (i) In lieu of their present holding, the shareholders were to receive:  

  (a) Fully paid equity shares equal to 2/5 of their respective holdings.  

  (b) 5% preference shares fully paid – up equals to 20% of the above new equity 

shares. 

  (c) 3,000, 6% second debentures of ` 10 each.  

 (ii) An issue of 2,500, 5% debentures of `10 each was made and fully subscribed in 

cash.  

 (iii) The assets were reduced as follow – 

  (a) Goodwill from ` 1, 50,000 to `75,000 

  (b) Machinery from ` 50, 000 to ` 37, 500  

  (c) Leasehold Premises from ` 75, 000 to ` 62, 500.  

  Show the journal entries to give effect to above scheme of reconstruction.          

 VkW; fy- dh ÁnÙk iw¡th 25]000] 10 `okys lerk va’kksa esa foHkDr gSA dEiuh dh yxkrkj gkfu;ksa ds 
dkj.k lpkaydksa us ,d iqu% fuekZ.k dh ;kstuk cukbZ ftls U;k;ky; }kjk LohÑfr Ánku dj nh xbZA 
iw.kZ fuekZ.k dh 'krsZ fuEu Ádkj dh Fkh & 

 (i) va’k/kkjh vius orZeku va’kksa ds LFkku ij ÁkIr djsaxs & 
  ¼v½ orZeku va’kksa dh la[;k 2@5 ds cjkcj iw.kZ lerk va’kA  
  ¼c½ u;s lerk va’kksa ds 20% ds cjkcj 5% iw.kZ iwokZf/kdkj va’kA  
  ¼l½ 10 `okys 3]000] 6% f}rh; _.k i=A  
  (ii) 10 `okys 2]500] 5% ÁFke _.k i= tkjh fd;s x;s tks fd udn esa iw.kZr% vfHknÙk gq,A  
 (iii) lEifÙk;k¡ fuEu Ádkj ?kVkbZ xbZa &    
  ¼v½ [;kfr dks 1,50]000 `ls 75]000 rdA       
  ¼c½ e’khu dks 50]000 `ls 37]500 rdA      
  ¼l½ Lodh; Hkou dks 75]000 `ls 62]500 `rdA 
  mijksä iqufuekZ.k dh ;kstuk dks ÁHkkoh cukus ds fy, tuZy Áfof"V;k¡ nhft,A      

PART – C @ @ @ @ [k.M[k.M[k.M[k.M& & & & llll 
Q.12 Anand Company Limited issued a prospectus inviting application, for 2,000 share at 

`10 each at a premium of `2 per share, payable as follow –  

  On application `2 per share, on allotment (including premiums) `5 per share, on first 

call `3 per share on second call `2 per share.  

         Application were received for 3,000 shares and allotment was made pro – rata to the 

application of 2400 shares, the remaining application being refused. Money over paid 

on application was employed on account of sum due on allotment.  
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 Ramesh to whom 40 shares were allotted, failed to pay allotment money and first call. 

His shares were forfeited. Then the second call was made. Mukesh the holder of 60 

shares, failed to pay the two calls. His share were also forfeited. All the shares were 

reissued @10 with 20% premium. Give journal entries in the Books of Company.          

 vkuUn dEiuh fyfeVsM us 10 ` okys 2]000 va’kksa ds fy, 2 ` Áfr va’k Áhfe;e ij vkosnu i= 
vkeaf=r djus gsrq ,d fooj.k i= fuxZfer fd;kA jkf’k;k¡ fuEu Ádkj ls ns; gSa & 

 ÁkFkZuk i= ij 2 ` Áfr va’k] vkoaVu ij ¼Áhfe;e lfgr½ 5 ` Áfr va’k] ÁFke ekax ij 3 ` Áfr 
va’k] f}rh; ekax ij 2 `Áfr va’k 3000 va’kksa ds fy, vkosnu i= ÁkIr gq, rFkk 2]400 va’kksa ds 
ÁkfFkZ;ksa dks ;Fkkuqikr vkoaVu dj fn;k x;kA 'ks"k vkosnu i= okfil dj fn;s x;sA vkosnu i= ds 
lkFk vfrfjä /kujkf’k dks vkoVau ij ns; jkf’k esa Á;qDr dj fy;k x;kA jes’k] ftldks 40 va’k 
vkoafVr fd;s x;s FksA vkoaVu o ÁFke ;kpuk dh jkf’k dk Hkqxrku djus esa vlQy jgkA mlds va’k 
dk gj.k dj fy;k x;k fQj f}rh; ;kpuk dh xbZA eqds’k] tks fd 60 va’kksa dk /kkjd gSA nksuksa 
;kpukvksa dk Hkqxrku djus esa vlQy jgkA mlds va’kksa dk Hkh gj.k dj fy;k x;kA rRi’pkr leLr 
va’k 20% Áhfe;e ij iqu% fuxZfer dj fn;s x;sA  

 dEiuh dh iqLrdksa esa Áfof"V;k¡ nhft,A  
Q.13 Write notes on any two of followings -  

 fuEu ij fdUgha  nks ij fVIif.k;k¡ fyf[k, & 

 (a) Declaration of dividends out of reserves. 

  lap;ksa esa ls ykHkka’k dh ?kks"k.kkA 

 (b) Advantages and disadvantages of Bonus shares.  

  Ckksul va’kksa dh YkkHk o gkfu;k¡A 

 (c) Format of profit and loss a/c under schedule III of Companies Act, 2013.   

  dEiuh vf/kfu;e] 2013 dh vuqlwph III esa ykHk&gkfu dk Ák:iA 

Q.14 Describe the concept of Goodwill and explain the various method of the valuation.  

 [;kfr dh vo/kkj.kk dk o.kZu dhft, vkSj blds ewY;kadu dh fof/k;ksa dks le>kb;sA 

Q.15 What do you mean by Amalgamation of Companies? How does pooling of Interest 

method differs from the purchase method.    

 dEifu;ksa ds ,dhdj.k ls vki D;k le>rs gSa\ fgrksa dh ,d=hdj.k fof/k] Ø; fof/k ls fdl Ádkj 

fHkUu gS\  

Q.16 The following are the Balance Sheet of H. Ltd. And S. Ltd. As on 31.12.2017   

 31 fnlEcj 2017 dks ,p- fy- ,oa ,l- fy- dk fpëk fuEu Ádkj gS& 
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I. Equities and Liabilities  H. Ltd. S. Ltd. 

1. Share holder fund    

 (a)  Share Capital (`) 100 each  500,000 2,00,000 

 (b)  Reserve and Surplus:  

      General Reserves 

      P&L A/c   

 

100,000 

80,000 

 

- 

- 

2. Noncurrent liabilities 

 6% Debentures   

 

- 

 

100,000 

3. Current liabilities  

Creditors  

 

75,000 

 

45,000 

  7,55,000 3,45,000 

  

II. Assets:   

1. Noncurrent Assets:  

Tangible Assets    

 

3,50,000 

 

1,50,000 

 In tangible Assets (P&L A/c) - 100,000 

2. Investments  

6% Debenture in S. Ltd.  

 

60,000 

- 

- 

 Shares in S. Ltd. (1500 at Cost) 120,000  

3. Current Assets: 

 Cash at Bank 

 

75,000 

 

25,000 

 Stock  90,000 40,000 

 Sundry Debtors 60,000 30,000 

  7,55000 3,45000 

  

         H. Ltd. acquired the shares on 1st May 2017. The profit and loss account of S. Ltd. 

showed a debit balance of `150,000 on 1st January 2017. During March, 2017 goods 

costing ̀ 6,000 were destroyed by fire against which the insurer paid only `2,000. Trade 

creditors of S. Ltd. include `20,000 for goods supplied by H. Ltd. On which H. Ltd. 

made a profit of `2,000. Half of goods were still in stock on 31st December 2017. 

 Prepare a consolidated balance sheet and show the complete working. 
 ,p- fy- us va’k 1 ebZ 2017 dks Ø; fd;sA 1 tuokjh 2017 dks ,l- fy- ds ykHk&gkfu [kkrs dk 'ks"k 

150]000 `MsfcV Fkk ekpZ] 2013 esa 6]000 `dh ykxr dk eky vkx ls ty x;k ftlds fy, chek 
dEiuh us dsoy 20]00 `dk nkok Lohdkj fd;k o Hkqxrku fd;kA ,l- fy ds ysunkjksa esa 20]000 ` 
,p- fy- }kjk eky iwfrZ ds lfEefyr gaS ftl ij ,p- fy- us 2]000 ykHk dek;kA 31 fnlEcj] 2017 
dks bl eky dk vk/kk Hkkx LVkWd esa FkkA 

 ,dhd`r fpÍk cukb;s rFkk fVIif.k;k¡ Hkh nhft,A 

----------------------------------------- 


